Find the square root.

1) A/-361
A) -19
C) -180

2) - AJ256
A) 16
Q) -16

1
3) . —
}25

1

625

1
4 “\[100

A)-—1L

A)

C) Not a real number

Find the cube root.

3
5) - A/343

A) 49

3
6) A/8

A)3

7) AJ-729
A) -9

10,000

B)5

B) -7

B) 4

B) 27

B) 2

B) 19

D) Not a real number

B) -128
D) Not a real number

Ul =

Q)7

C) 2

Q) 81

/ﬁm -
=]

D) 25

D) -343

D) 2

D) +9

D) —



Find the root. Assume that all variables represent positive numbers.

9) '\/ﬁ
AW B)y5

10) \J16x8

A) 16x4 B) 4x4

3
11) A/x36

3
A) A/x36 B) x18

4
12) y32

A)yS B) y28

3

13) A/512x6
A) 22x2
Q) 8x2

3
14) ~/-8x6
A) 4x2
Q) -2x2

15) A/x6y10

A) x4y8 B) x3y10

16) \/100m10n18

A) 50m5n9 B) 10m5n9

3
17) N-64x36 y18

A) -4x12y6 B) 16x12 y6

Use the product rule to simplify the radical.

18) Af44

A) 22 B) <[44
19) A/150

A) 1542 B) 254/6
20) 24/16

A)6 B) 16

C) 54fy

Q) x4 /1

Q) x12

O \y32

B) 64x2
D) Not a real number

B) 2x2

D) Not a real number
Q) x6y5

C) 50m8nl6

Q) 4x12 )/6

Q) 4-/11
Q) 54/6

C) 8

D) y1(]

D) 4x8

D) x33

D) y16

D) x3 )’5

D) 10m8n16

D) -4x18 y9

D) 24/11

D) 1+/3

D)4



21) -6~/147

A) -42./3 B) -34/42 Q) 3~/42
Use the quotient rule and the product rule to simplify each radical.
2), |2
36
A5 5
A) NG B) 0 0=
63
A) 94[7 B) [63 O 3.[7
25 5 5
11
24) 1
11 11 11
vy AT O\[16
18
5y, [——
%) 441
2 342 2
N7 T AT
Simplify the radical. Assume that all variables represent positive numbers.
15
26) , |[—>
x4
A) 15 B) 15 o 15
B fx4: X2 X
27, |20
x2
X X x2

Simplify the radical.

3[ 12
125
3 3
A) 312 B) 12 O 12
125 5 54/5

D) 42+/3

12



Add or subtract as indicated.

29) 22+[2 - 7A[2
A) 30 B) 2942 Q) 152 D) 15

Add or subtract by first simplifying each radical and then combining any like radicals.
Assume that all variables represent positive numbers.

30) 54/6 + 9754
A) 1446 B) 22./6 Q) -32+/6 D) 32./6

31) 632 - 6:/162
A) -30~/2 B) -78+/2 Q) 782 D) 3012

32) A[48 - 7192
A) -4+3 B) 1243 Q) -4+/6 D) -12

33) 5+/162 - 3+[18 - 4+/98
A) 1142 B) 82 Q) -114/2 D) 54/2

Simplify the expression. Assume all variables represent positive real numbers.

3
34) A/2x2 - /1080 + /128x2

A) 9xﬁ-6i{5 B) 8)(\/5—63/5

C) 9R2x2 - '3\/% D) 9xA/2 - 6:/30
35)3/@+12-3/§-;

A}19—23f§ B)IQ—E/E

C)3/§3+12-3[E D)193/Es

36) A/5x2 - 3 432 +4/320x2
A) 9xa[5 - 62& B) 9xA/5 - 6-/12 C) 8xaf5 - 63/5 D) 9n/5x2 - 3«/432

Multiply and simplify. Assume that all variables represent positive real numbers.

37) 54[11 - 124/110

A) 7260410 B) 6604/10 Q) 660~/110 D) 604/1210
38) Af14x - A[14x

A) 14x2 B) 196x Q) 14x D) 196x2
39) (8/y)?

A) 64y B) 8y2 C) 64y2 D) 64y

40) 4/3x5 - 4[15x
A) 15x3+/5 B) 3x34/15 Q) 3x6A[5 D) 3x3.[5



41) /8xy4 - A[2x2y4

A) 4y4a[x B) 4xy4a/x

42) A[7(:[3 - A[5)
A)A21 - /35 B) 8+/7

) A2([14 + A[2)
A) W7 +2 B) 447 +2

44) (6a/11 + 2)(7A[11 + 8)
A) 106n/11
C) 5811 + 48

15) (3 +A[2)/3 -~[2)

A)3-24/z B) 3 - 24/3z

Solve the problem.

C) 4xy8a/x D) 2xy4a/2x
C) /56 D) 7/3 + 75
Q) 247 + 4 D) 14+4

B) 16 + 424/112 + 48411
D) 478 + 624/11

C)3-z D) 3z

46) Find the area of a rectangle whose length is 6+/10 meters and width is 4+/50 meters.

A) 240~/50 sq. m B) 240045 sq. m

C) 244/500 sq. m

D) 2404/5 sq. m

Divide and simplify. Assume that all variables represent positive real numbers.

4
A) % B) 34/6

48)“/8_4

3
A) 247 B) 84

90x7

49)
10x

ALW

A) 3x6 B) 3x34/10

441x7

75

A) 3x6[7 B) 3xA/7

Q)6 D)3

Q) @ D) 3

) 3x3 D) 3/x7
Q) xA/63 D) 3xA/49



Rationalize the denominator and simplify. Assume that all variables represent positive real numbers

7
51) 4[5

B) 9/5p

B)Etlé-

B) A/10x

Q)7

0 ~/825

3

5p

C) 5/p

0 ~J 10x

100x2

D) A/35




